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Answers are required to be marked only on the
Computerised O.M.A. Answer shest which is being
provided to the examinee.

Besides filling in the Roll Number, the examinse has to
put his/her signature on the Answer-Sheet and also fill
other requirsd details like Name, Roll Number, Question
Booklet cods, elc. as indicaled on the Answer OMR
Sheet. If these details are not filled in by the examines,
his/her Answer Shest will not be evaluated.

For each question, there are four altemative answers,
oul of which only one is corract. Examinee must darken
the circle of correct option in the Answar Sheet by Black
Ball Pen only.

There are 40 (37+3) pages in this Question-Booklet
including 1 page for General Instructions and two
blank pages for Rough Work in the last. in case
an examinee receives an incomplete or defeclive
Question Booklet, he/she should make a requast
to the Room Invigilator to change the sams within
10 minutes of start of the exam.

This Question Booklet contains 150 questions from
following subjects :

(1) Maths Q.Nos. 1-50

(2) Chemistry Q.Nos. 51-100

(3) Physics Q.Nos, 101-150

Each question carrias 1 mark and % mark will be
deducted for each wrong answer.

Possession and use of electronic devices such as
Calculator, Cellular Phone, Digital Diary, Log Tabla,
Pager, elc., are restricted during the examination,

Any leaf from the Question Booklet should not be
detached. Afler the Examination, Question-Bookiet
and Answer-Sheet must be handed over to the Room
Invigllator.

During examination the examinee will not be allowed
to leave the examination hall till the END of the
Examinalion.
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MATHEMATICS

In a flower bed, there are 23 rose plants
in the first row, 21 in the second, 19 in
the third and so on. There are 5 rose
plants in the last row. Then the number
of rows in the flower bed is

A) 15
B) 18
C) 10
D) 9

. The sum of the reciprocals of

Ms. Sonu's ages (in years) 3 years

ago and 5 years later from now is 1.

Then Sonu'’s present age is
A) 5
B) 7
C) 8
D) 9

A motor boat whose speed is 18 km/h
in still water takes 1 hour more to go
24 kmupstream than to retum downstream
to the same spot. The speed of the
stream is

A) 6 km/h
B) 7 km/h

C) 10 km/h
D) 24 km/h

. Value of k if the 2 roots of the quadratic

equation kx(x — 2) + 6 =0 are equal, is
A) 5

B) 6

C) 10

D) 1

! Page No. 3

Tftra

1. Tk 799 A= 3, o g 3§ 23 e 0
%, 21 quirafRd &, diwd dffr i 198 el
3ot wepre 3ty oft &) <ifem dfe & 5 ema
F 9 &, ) g0 B # ufwRet 6 G @
A) 15
B) 18
C) 10
D) 9

2. gaaH @ 17 ad ¢ 3k 5 ad g

F. W% ang (aut §) & germ F am
%%,?ﬁmaﬁaﬁqnarg%

A) 5
B) 7
C) 8
D) 9

3, U Hiet | Rt wia s« ° 7fa 18

. 4ft. /2T ®, 9 GHH T W UHT S |
24 f5 . s 3 Rrer v ot 8, I8 1
o2 a1t i ¥ freda a9 e & @
B R iR

A) 6 f&.5i. faa

B) 7 fs.1h. /g

C) 10 f&. . /g9

D) 24 {1, /g

4, a2 fEmwt afieh kx(x —2) +6=0%

AT THR G, WKFAA R
A) 5
B) 6
C) 10
D) 1
1 PECE



5. The pair of lines y =0 and y = -7 has

A) No solution

B) One solution

C) Infinitely many solutions
D) Two solutions

. Ifx+3isafactorof x* + ax2—bx + 6
and a + b = 7 then the values of a and
b are respectively

A) 1,6
B) 0,7
C) 0,-7
D) 2,5

. Ifx—y=0and 2x —y = 2 then values
of xand y are

A) 3,3
B) 2,2
C) -2, -2
D) -3, -3

. The value of k for which the system of
equations 2x-3y=1and kx + 5y =7
have a unique solution, is

5. @y=03Ry=—7%guw

A) g AE R
B) ThEa 8

C) sFdea &
D) e &

AR+ axt—bx + 6 W THPAES X + 3

Ma+b=7% drasMb Fumwm:
A) 1,6
B) 0,7
C) 0,-7
D) 2,5

AR x-y=03R2x-y=2%, drxax

y & 0§
A) 3,3
B) 2,2
C) -2,-2
D) -3,-3

. k =1 a8 A foraes o wefiemor 2x - 3y = 1

3R kx + 5y = 7 # yoneht =1 o g
T &

A) k=1 A) k#1
B) k=10 B) k=10
D) any real value of k D) kiﬁfﬁ%mﬁlﬁqﬂ
. A quadratic polynomial whose zeroes . T Temmdt sgedia Ry 3 sl 5 &,
are3and-5is T|®R :
A) X*+2x-15 A) x*+2x-15
B) x2~2x + 15 B) x2—2x + 15
C) x2—8x + 15 C) x*—8x + 15
D) x2+8x—15 D) x*+8x-15



10.

L

12.

13.

Which of the following is incorrect ?

A) tan6 =3

B) sing =23

C) sec6=3

D) cotg =3

If sin (A—B) = -, cos (A + B) =
2 2

then values of A, B are respectively

A} 15°, 15°

B) 30°, 0°

C) 45°, 15°

D) 15°, 45°

If cos6 + sin® = /2 cose then
cos6 ~ sind =

A) V2 cose
B) J2sino
C) 0
D) 1

If tan@ = 5 4+ then the value of

3sin8 + 4 coso
3 sinB - 4 cosH

2
] is equal to

A) 312
B) 30
C) 172
D) 72

10. Frafafaa 3 @ S-ar smer 7
A) tang=3
B) sin6 =3
C) sec6=3
D) coto =3

11. 3 sin (A—B) = %,cos (A+B)=

2, at A 3fR B %1 7 wom: &
A) 15°, 15°
B) 30°, 0°
C) 45°, 15°
D) 15°, 45°

12. M cosh + sin6 = /o coso 2, T
cos@ - sing =
A) 2 cosd
B) 2sin@
C) 0
D) 1

13. TR tane =5/ &,
0
3sinB+4cosf )} _
3 sin® - 4 coso

A) 312
B) 30
C) 172
D) 72

L
2

1 PECE
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14.

15.

16.

17.

18.

The arithmetic mean of a set of 40 values
is 65. If the 40 values is increased by 5,
then the mean of the new set of values
is

A) 65

B) 70

C) 60

D) can't be determined

The sum of the deviations of the
variate values 3, 4, 6, 7, 8, 14 from
their mean is

A) 1
B) 2
C) 0
D) 10

Value oftan 1°tan 2°tan 3°... . .. tan 89°is
A) 0

B) 1

C) 89

A quadratic polynomial whose one zero
is — 5 and the product of the zeroes
isQ,is

A) x? + 5x

B) x%-5x

C) x2+5x+5

D) x2-5x+ 1

The value of m so that 4x2 —6x—-m is
divisible by x — 3, is exact divisor of

A) 9
B) 45
C) 20
D) 36

Page No. 6

14.

15.

16.

17.

18.

40 Wt 3 U A= i SR AT 65 1 |
afX 40 Wl =t 5 @ w1 R g, @ A &
TMAEA R AR

A) 65

B) 70

C) 60

D) fruffea =& o < wahan

fer e 3, 4, 6, 7, 8, 14 % Fr=ewi &
T A A AR

A) 1

B) 2

C) o

D) 10

tan1°tan2°tan 3°. .. .. tan 89° %1 HH &
A) 0 :
B) 1

C) 89

R T T — 5 T 3 I 1 e
0 2, 7% femeht ageda #

A) x? + 5x

B) x®-5x

C) x*+5x+5

D) x2—5x + 1

m &1 a8 AF Rrad Riw 4 - 6x-m
# x — 3 & e fhar s ws; ot 97
%1 ot STITh 2T |

A) 9

B) 45

C) 20

D) 36

1 PECE
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19.

20.

2.

The area of a quadrant of a circle whose
circumference is 22 cm, is (in cm?)

A 77
8
B) 70
C) 100
D) 11

In the figure

and TQ are two tangents to a circle
with centre O, |POQ =110°, then
[PTQ =

A) 60°

B) 70°

C) 80°

D) 90°

The angle of elevation of the top of a
tower from a point on the ground, which
is 30 m away from the foot of the tower,
is 30°. Then the height of the tower is,
(in metre)

10
B3
B) 3043
C) 1043
D) 10

A)

Page No. 7

19. 22 8.3, vitfr & v 39 F T St

goee (A2 H) 3

A 77
8
B) 70

C) 100

D) 11

21,

TQ %% O ¥ & g9 W < @yl @ 2,
[POQ=110°, df |PTQ=

A) 60°

B) 70°

C) 80°

D) 90°

qUae W G fog @ 9 % ofa & amaw

4 30 . T 2, i & vid = =R
30° 2, T e it I=d &, (e )

10
A
' &
B) 3043
C) 10v3

D) 10
1 PECE
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22.

23.

24,

25.

26.

The value of k if the points A(2, 3),
B(4, k), C(6, — 3) are collinear, is
A) 10

B) -1

C) 1

D) O

If the points A(6, 1), B(8, 2), C(8, 4),
D(p, 3) are the.vertices of a parallelogram,
taken in order, then the value of p is

A) 7
B) -7
C) 6

D) 10

The ratio in which the line joining the
points (5, 6) and (-1, —4) is divided by
y axis is

A) 5:1

B) 3:2

C)5:2

D)1:5

ABC and BDE are two equilateral
triangles such that D is the mid point
of BC. Ratio of the areas of triangles
ABC and BDE is

A) 2:1

B)1:2

C) 4:1

D) 1:4

If the first and the last term in an A.P.
are 17 and 350 respectively and the
common difference is 9 then the number
of terms is

A) 38
B) 35
C) 30
D) 40

i Page No. 8

22,

23.

24,

25.

26.

afk fig A(2, 3), B4, k), C(6, - 3)
TfaE € A kT AR R

A) 10

B) -1

C) 1

D) 0

72 &g A(8, 1), B(8, 2), C(9, 4),
D(p, 3) Tk GGl Tgys F ¥ § 3R
FAE, ApFAAR

A) 7

B) -7

C) 6

D) 10

firgatt (5, 6) o (-1, —4) W SgAaTh
Tarary ave g T ST o ster s ?
A) 5:1
B) 3:2
C)5:2
D) 1:5

ABC 3t BDE &) warg g 38 e &
f5 BC =1 maafeg D ? 1 Byt ABC 3R
BDE % 8%l 1 39T 8

A) 2:1

B) 1:2

C)4:1

D)1:4

Ife & gHiat Aol o wem AR Hfow 1
EET: 17 3R 350 ® 3R amma siata 9
2, 91 wE i aen ®

A) 38

B) 35

C) 30

D) 40

1 PECE
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27.

28.

29.

30.

Mr. A and Ms, B are friends. The
probability that they both will have
different birthdays is (ignoring a leap
year)

1
365
2
365
364
0 3

D) 1

A)

B)

Empirical relationship between the three
measures of central tendencies is

A) 2 mean + mode = 3 median

B) median + mode = 2 mean

C) mean + 2 mode = 3 median

D) mode + mean = 2 median

A cone of height 24 cm and radius of
base 6 cm is made up of modelling
clay. A child reshapes it in the form
of a sphere. Then the radius of the
sphere is

A) 6cm

B) 8cm

C) 9cm

D) 3cm

If two cubes of volume 64 cm? are
joined end to end, then the surface
area of the resulting cuboid is

A) 128 cm?

B) 160 cm?

C) 162 cm?

D) 64 cm?

Page No. 9

27. t A 3l 5. B fim & | R sy

28.

29,

30.

= 8 < wiftrran @ (efiw o S mom
)

A) ——
B) —=

C) —
D) 1

e ygfat it diw wml % e wEfe
e §

A) 2 WTeq + FEAS = 3 e

B) mifei + wges = 2 4Tey

C) Hieq + 2 sgereh = 3 Wifeds

D) g + U = 2 Wifeeh!

wioeaw P @ 99 o vig f I 24
A samm A B e . 8 1=
AT I8 YA TF A T AR a1 & |
Tt =i e s gl 7

A) 631,

B) 8 &.1.

C) 9&.1.

D) 3a..

If3 64 T.41t.3 37a % ) 941 Y 9"
# i & shrg R R, Y aftomdt =
T Yt A @

A) 128 @.4.2

B) 160 &.#t.2

C) 162 @.1t.2

D) 64 &2

1 PECE
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31.

32.

33.

(sec A +tan A) (1 —-sin A) =
A) sec A

B) sin A

C) cosec A

D) cos A

Value of sin2‘63° + 5iN2 27° is
A) 0
B) 1

C)

D)

MW =

If sin 2A = 2sin A, then A =
A) 0°

B) 30°

C) 45°

D) 60°

If cotd = /B then the value of

(1+sin8)(1-sind)
(1+cos0) (1-cos@) °

A) 64/49

50
84
49
64
D) 1

B)

C)

31.

32.

33.

(sec A+tan A) (1 —sin A} =
A) sec A

B) sin A

C) cosec A

D) cos A

sin263° + SN2 27° HTAA &
A) 0
B) 1

C)

D)

MW o=

IR sin2A=2sin AR, MA=
A) 0°

B) 30°

C) 45°

D) 60°

. afe cotB:% 2, @

(1+5sin8) (1-sin@)
(1+cos8) (1-cos6)

FHAAER

64
A) /a9

50

B)a

49
64
D) 1

C)

Page No. 10 |
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36.

37.

35.

The sum of first 15 multiples of 8 is
A) 240
B) 960
C) 800
D) 690

A sum of Rs. 700 is to be used to give
seven cash-prizes to students of a
school for their academic excellence.
If each prize is Rs. 20/less than its
preceding prize then first prize amount
is

A) Rs. 140
B) Rs. 150
C) Rs. 160
D) Rs. 120

The number of 3 digit numﬁérs
divisible by 7 is

A) 126
B) 128
C) 130
D) 127

. The.20™ term from-the last term of the

sequence 3, 8, 13, ...., 253 s
A) 140
B) 158
C) 98
D) 90

35.

36.

37.

38.

Page No. 11

8 % wuw 15 Uil 1 AR
A) 240

~ B) 960

C) 800
D) 690

. 700 st Tt o feremmer & fenfiat
I Nrafvres suwfeemt & foe ua T=e
TR 37 & forg s i 718 | 9fe s
QR 319 J8e! TR | %, 20 FH 9,
A worm qHR Y ¥ =0 g 7

A) . 140

B) % 150

C) %. 160

D) %. 120

i et it et vt 7 @ R 7
A) 126
B) 128
C) 130
D) 127

§@e 3, 8, 13, ....,'253 FAfmwEa
20aiwE & '

A) 140
B) 158
C) 98
D) 90
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39.

41.

42,

Two consecutive odd positive numbers,
such that sum of whose squares is 290,
are

A) 11,13
B) 9, 11

C) 13,15
D) 19,17

The value of k so that the following
system of equations 3x —y + 5 = 0 and
6x — 2y + k = 0 has no solution is

A) k =1
B) k=1

C) k=10
D) k = 10

The value of k for which the lines
3x + 4y =5 and 5x + 4y = 4 and
kx + 4y = 6 meet at a point is

A) 1
B) 2
C) 3
D) 4

Which of the following cannot be the
difference between a two digit number
and the number obtained

by interchanging the digits ?

A) 72
B) 36
C) 54
D) 48

39. 2 AR a9 wTenes e g e

40.

41,

42,

D) 48

fo6 373 =it =1 i 290 2, 4 =8 wEAn &
A) 11,13

B) 9, 11

C) 13, 15

D) 19, 17

k =1 98 7 e forg wfie
3X—-y+5=03MN6x—-2y +k=0H
SoTTet &1 S & T @

A) k = 1

B) k=1

C) k=10

D) k # 10

k 1 38 7 forees fora Yt 3x + 4y = 5.
5x + 4y = 4 3 kx + 4y = 6 T ¥ fiig
R firerh €

A) 1

B) 2

C) 3

D) 4

Frafafae i @ S arus o sl frgen
3T 37t 1 T 37w f Fee F TvER,
o+t g % e F SR Ad R wwa 7

A) 72
B) 36
C) 54

1 PECE



43.

45.

if AABC is right angled at C, then the
value of cos (A + B) is

A) 1

B) 0
:

©) 5
J3

D)"é-

If secA + tanA = x, then tanA =
2
A) /x
1
B —
) 2x
X2 -1
2%
2x
x% -1

C)

D)

If sin6 = /3 cosB, 0 < 6 < 90°, then 6
is equal to

A) 30°
B) 45°
C) 60°
D) 90°

If tan®0 + cot?6 = 2, 0 is an acute
angle, then tan®0 + cot® is equal to

A) 2
B) 3
C) 4
D) 8

Page No. 13

43. 9f& AABC, C W gR=hIvi1g §,

45,

46.

dicos (A+B)®FAMR
A) 1
B) O

1
C) —
)2

J3

D)?

afe secA + tanA = x 8, @l tanA =

A) %
1

afe sing = /3 cos0, 0 <6 <90°%,
Me=

A) 30°
B) 45°
C) 60°
D) 90°

Ife tan? + cot?d = 2, 6 T I FI &,
@ tan’e + cot’e =

A) 2
B) 3
C) 4

D) 8
1 PECE
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47,

48.

49,

50.

2 men and 7 boys can do a piece of
work in 4 days. 4 men and 4 boys can
do the same work in 3 days. Then

the number of days a boy takes to
complete the same job is

A) 50 days
B) 60 days
C) 30 days
D) 55 days

In an examination, one mark is awarded
for every correct answer, while % mark
is deducted for every wrong answer.
If a student gets 90 marks by answering
120 questions then how many questions
did she answer correctly ?

A) 96
B) 100
C) 90
D) 95
. a® b?
lix=asin®, y=btan, then F_y_
A) 0
B) 1
C) -1

2|=

1
D)-e'

Sides of 2 similar triangles are in the
ratio 3 : 7. Areas of these triangles are
in the ratio

A) 9:35
B) 9:49 .
C) 49:9
D) 9:42

47.

48.

49.

2 oreHt 3R 7 TeH U i it 4 R A
FHEHA § | 4 gt 3l 4 e T e
% 3 Rt W wa ¥ | B o v T
wW 5 R R dfqu s asa @ 7

A) 50 fa=

B) 60fm

C) 30fH

D) 55

T vhan #, 3els 9l I F fog 1 3w
T s R, Sraifds T e W F R
Y% 37 e forn stven @ | R o feraeff
1 120 SFA1 3 I I T 90 37 A 7T,
At IR e werl ot e S e ?

A) 96

B) 100

C) 90

D) 95
ﬂﬁx:asin&,y=btane,ﬁ’l:—:—:—:=
A) O

B) 1

C) -1

1
D)E

. Qo Ay Ry 3 7 Fagua A ¥ |

I Brgil % et o1 ITUTT T € 7
A) 9:35
B) 9:49
C) 49:9
D) 9:42
1 PECE
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51.

52.

53.

54.

55.

CHEMISTRY

Kurkure packet's empty space is filled
with an inert gas, inorder to prevent it
from

A) Reduction

B) Oxidation

C) Oxidation-reduction

D) Precipitation

Transparent photographic films
gradually change their colour when
exposed to light due to

A) Combination reaction
B) Thermal decomposition
C) Oxidation reaction

D) Displacement reaction

Aluminium when exposed to O,
atmosphere, formation of Al,O, is
observed. It is

A) Corrosion

B) Rusting

C) Decomposition
D) Rancidity

When blue coloured CuSQ, crystals
is heated, it gives a white amorphous
solid. This white solid is

A) CuSQ, - H,0

B) CuSO,

C) CuO

D) CuCOQO,

Colour of phenolphthalein in acidic
medium

A) Pink

B) Yellow

C) Colourless
D) Orange

| Page No. 15

51.

52.

53.

54.

55.

g+ faam

T & e § figa v o Tl Aa g
WANGHTWEIA__ FTA+
fom s 2 1

A) soFe

B) Sq=H

C) ITFEH-T=T

D) ara&qu

WehT¥1 & O 7 31 T Rl SRemies
@ F1 @ dR-oR ofafia 8 s @
)| FFRUEME |

A) FAYSH i

B) =iy REem

C) Iu=g AAfufern

D) T arfirfran

TegHifiam O, % arpige & W § M
o ALO, TR | T8 2

A) HeETw

B) i @I

C) fadem

D) =f¥m &

s et @1 % CuSO, freea =t ™ famn
m%awmmmﬁm% :
TEAFI TR

A) CuSO, - H,0

B) CuSO,

C) Cu0

D) CuCQ,

A wreaw o i e @

A) Tt
B) den
C) tméA
D) =

1 PECE



56.

b7.

58.

59.

60.

Second highest electronegative
element in periodic table

A) Fluorine
B) Chlorine
C) Oxygen
D) Nitrogen

The element with half filled outermost
electronic configuration

A) Aluminium
B) Magnesium
C) Boron

D) Nitrogen

The order of effective nuclear charge is
A) LicNa<K<Rb
B) Li>Na>K>Rb
C) LicK<Na<Rb
D) LicRb<K<Na

Triad among the following is
A) H,F,Cl

B} F, Cl, Br

C) Be, Mg, Ca

D) Ca, Sr, Ba

KOH is stronger base than LiOH. The
reason is

A) Liis highly reactive

B) Atomic size of Liis less
C) K is highly reactive

D) Atomic size of K is more
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56.

57.

58.

59.

60.

st sl = et Seaaw fEgm o
Gich

A) TAH

B) A

C) st

D) AR

a1d it STeran SRR ST e
e 8

A) TegHifa
B) #=fiRrw
C) &M

D) rg2eH

wuTeft g T FIFH &
A) Li<Na<K<Rb
B) Li>Na>K>Rb
C) Li<cK<Na<Rb
D) Li<cRb<K<Na

Frefafaa g a =i 2
A) H, F,CI

B) F, Cl, Br

C) Be, Mg, Ca

D) Ca, Sr, Ba

KOH, LiOH i amen wffiamel & 2,
TEH HRU &

A) Li arcda arfrfmamefier 3

B) Li %1 AT 37T 4 &

C) K 37cda arfufsransfiar @

D) K T AT SRR e 2

1 PECE



61.

62.

63.

64.

65.

Hydrolysis of an Ester in presence of
alkali is called

A) Esterification
B) Saponification
C) Substitution
D) Addition

Vegetable oils usually contain
A) Unsaturated fatty acids

B) Carboxylic acids

C) Saturated fatty acids

D) Glacial acetic acid

Hard water forms scum with soap,
due to the presence of

A) CH,COOH
B) NaOH

C) Ca(OH),
D) CaCl,

Hydrophobic end of micelle is soluble
in hydrocarbon because it is

A) Non-polar
B) Polar
C) lonic
D) Covalent

Compound which does not belong to
the homologous series

A) CH,0
B) C,H,,0
C) CH,0

D) CH,O
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61.

62.

63.

64.

65.

HAewhal! i JUTEUf & 1o e 1 wielia-
eI FHEEATT &
A) TS

B) TR
C) witeamm
D) daheH

gefa ae # SmT: Bl @
A) TETS I 3

B) FEifeuaiere a1

C) dqw &1 avat

D) wifEs wfifes ora

Wit wr=ft | o WY TS S E,
T FHEE |

A) CH,COOH

B) NaOH

C) Ca(OH),

D) CaCl,

e w1 el o7a wEgieE |

goeiicl & Fifh I8
A) sy @
B) ga
C) 3mf=
D) wewarsh ?
3 s < T g e # T e
A) CH,0
B) CH,,0
C) C,H,0
D) C,H,0
1 PECE



66.

67.

8.

69.

70.

Colour of Taj Mahal in Agra is
changed due to

A) Sunlight

B) Acid rain
C) Slaked lime
D) Corrasion

Antacids are used to remove
A) Body pain |

B) Acidity

C) Basicity

D) Headache

Chemical compound present in tooth
paste is

A) Basic - Ca,(PO,),
B) Acidic — Ca,(PO,),
C) Basic — Ca(HCQ,),
D) Sait—-Ca,P,

pH of orange juice is
A) 2.00-2.35

B) 3.12-3.33

C) 3.00-3.75

D) 3.3-4.19

‘Acid which helps for the digestion is
A) Amino acid '
B) Hydrochloric acid
C) Acetic acid

D) Citric acid

66.

67.

68.

69.

70.

D) fuftw o
Page No. 18

A ® AISHEe 1 T Co
Rl IRafda 8 R

A) 4
B) arreradi

C) =m
D) H&Ru

Wi i g2 & g

TERENE |

A) TR H 76

B) arliaar

C) eieaan

D) fired

Sare T Sufera Temafis i R
A) 5™ — Ca,(PO,),

B) ariia — Ca,(PO,),

C) & — Ca(HCO,),

D) @=ew - Ca,P,

Aot @& pH B
A) 2.00-2.35

B) 3.12 - 3.33
C). 3.00 - 3.75
D) 3.3-4.19

g 1 e T aTer 3T §
A) nfiFt o7

B) TIEgIaIiGh 3T

C) wfafes ar
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71,

72,

73.

74.

75.

Allotrope of carbon which posses high
melting point

A) Graphite
B) Fullerene
C) Coke

D) Diamond

The compound gives a sooty flame on
burning :

A) CH,
B) C,H,
C) C,H,
D) C,H,

Addition of hydrogen to alkene in
presence of nickel catalyst is

A) Reduction

B) Oxidation

C) Addition and Elimination

D) Substitution

A compound ‘A’ with formula C,H,0
possess two structural isomers.

On Oxidation it produces an acid.
Compound A is

A) 1-Propanal
B) 2-Propanone
C) 1-Propanol
D) 2-Propanal

Poisonous organic compound present
in denatured rectified spirit is

A) Ethyl alcohol
B) Methy! alcohol
C) Ethanoic acid
D) Formic acid

| Page No. 19

Tl

72.

73.

74.

5.

el T ATET FSraa 3= T
A) TTHTEE '

B) wH

C) #r&

D) &

7§ i Y e WO yfire saren ¥
A) CH,
B) CH,
C) CH,
D) C,H,

Repet St it Sufefa 3 orehl o

ESIECAbTICl 14
A) 9=

B) Iu=RA

C) Gwa R e

D) yitems

T R ‘A’ v g3 CH,0 3, 3o
2\ AT GHI99E § | ST R U8 &
I T ® | A A R

A) 1-3%e

B) 2-WHia

C) 1-9nATa

D) 2-%iUe

faga Rt fafe 4§ sufer Rt
Jferen difives 3
A) JUTEE STehIETS
B) firurde srcwigla
C) 3oATes 3
D) wififsh 3treA
1 PECE



78.

79.

80.

Method used to prevent the corrosion
of Aluminium

A) Galvanisation

B) Anodizing

C) Tinning

D) Cathodic Protection

Metal ‘A’ reacts with dil. HNO, and
liberates hydrogen. A is

A) Mg
B) Ag
C) Cu
D) Au

The metal which is highly reactive
A) Hg
B) Zn
C) Pb
D) Al

Among the foltowing the Polar

76. T & daror i A & fo sgE
#$ 5 areh fafr @
A) freaison
B) Sggrie
C) fo i wta =g
D) g

77. =g ‘A" ag HNO, % | st emgedt
TR FAR 1AL
A) Mg
B) Ag
C) Cu
D) Au

78. € wTg < ca A @
A) Hg
B) Zn
C) Pb
D) Al

79, ErafRea & gefva it

compound is A) Fif
A) Kerosene B) -
B) Alcchol
C) Benzene C) &e
D) Gasoline D) A&l
Metals can be extracted easily and 80. wigali w fespdor ___ @ 3t
economically from AR STaEaTe |
A) Mineral A) @f=t
B) Metallic compound B) wnfers Hfi
C) Ore C) #T&=h
D) Rock D) *EH
1pec
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81.

82.

83.

84.

The process of formation of covalent
bonds with other atoms to form long
chains is called

A) Addition

B) Coordination
C) Catenation

D) Polymerisation

CH,COOH + CHOH _X
CH,COOC,H, + H,0 ; Xis
A) H,SO,

B) NaOH

C) KMnO,

D) Ni

Modern periodic law is based on
A) Atomic mass

B) Mass number

C) Atomic number

D) Electronic configuration

In Mandeleev’s periodic table elements
with atomic numbers 18, 35 belongs to
which group ?

A) Group |

B) Group Il
C) Group V
D) Group VI

. The element which is electropositive

in nature
A) Sulphur
B) Silicon
C) Boron
D) Copper

Page No. 21

81.

82.

83.

85.

T QOIS & AT HEGdrsl 4y S
Well e s i S Feend g

A) TEeH

B) ¥9=d4

C) gEeH

D) st

CH,COOH + C,H,0H _X_,
CH,COOCH, +H,0; X2

A) H,SO,

B) NaOH

C) KMnO,

D) Ni

My s fram R
i & 1

A) T ¥R

B) W €&

C) YT e

D) gz =

. el #t arad groft # 18, 35 T

e A v e w7
A) O |

B) &g il

C) ¥ V

D) T9g Vil

2 7 Forme v forge v €
A) TER
B) Rrefisi
C) aRM
D) e
1 PECE
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86.

87.

88.

89.

90.

Burning of Mg in air is
A) Physical change
B) Chemical change
C) Sublimation

D) Oxidation-reduction

Reaction of marble with atmospheric
humidity and CO, to form slaked lime
is an example for

A) Decomposition reaction

B) Displacement reaction

C) Combination reaction

D) Redox reaction

A compound X reacts with CO,
present in air to form Y. Y on
decomposition produces an oxide.
The compound X is

A) CaCO,
B) CaO

C) Ca(HCO,),
D) Ca(OH),

Barium can displace which element
from its sulphate ?

A) Sodium
B) Caesium
C) Aluminium
D) Hydrogen

Dissolution of glucose is
A) Endothermic reaction
B) Exothermic reaction
C) Redox reaction

D) Displacement reaction

Page No. 22

86.

87.

88.

89.

90.

il &t g & ST &
A) it afads

B) T yfEdT

C) 3eduraq

D) 39=-3T9=4A

WO agEeta e 3k CO, %
Ty rfifsea e <o s SarE
A) fere sififeran =

B) e arfirfsman =1

C) warem 1fufshan =

D) == tffsra #

o A X, arg & sufm CO, % |
AR G Y T & | e & W=
Y U SATFAIES Ie9~ a1 ¢ | A X R

A) CaCO,

B) CaO

C) Ca(HCO,),
D) Ca(OH),

afem forg o =) 303 gothe & Rrafig
THUHATE 7

A) aifsm
B) *ftrm

C) wyHifTam
D) TEgH

oS 1 T @

A) Searen sifrfsran

B) et i
C) aragia=yg arfferar
D) faeemm aAfiifsran

1 PECE
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91.

92.

93.

94.

95.

Water of crystallisation is not present in
A) Washing soda

B) Baking soda

C) Soda lime

D) Gypsum

Plaster of Parisis
A) CaSO,-2H,0
B) CaS0,-%.H,0
C) CaSO, - 5H,0
D) CaSO,-H,0

Acetic acid reacts wi!h. N_abH to
produce a salt, whose pH is

A) Less than 7
B) Equalto 7
C) Morethan 7 .
D) Equal to 14

The gas liberated when a fetal is
treated with acid or base

A) Oxygen

B) Nitrogen 3
C) Chlorine

D) Hydrogen

High ductility is observed in
A) Na
B) Fe
C) Au
D) Mg

# Page No. 23

91.

g2.

93.

94,

95.

Toreeftentor st

A) uiE ErEt

B) @ =1 arsT (= dire)
C) < =1 it

D) fram

7 di g |

TR AT AR B
A) CaSO, -2H,0
B) CaS0,- %:H,0
C) CaSO, - 5H,0
D) CaSO,-H,0

fifes ufre NaOH & wia stfrfenath
Tk SO ST 8, ot pH #

A) 7 9 FH

B) 7 % s

C) 7 ¥ i

D) 14 % SR

T TG Y T AT HR F 6 A AR W
g et &

A)’ st

B) ATga

C) FarH

D) ETEgSH

T = I 9T I ® |
A) Na g
B) Fe
C) Au
D) Mg
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96.

97.

98.

99.

100.

Metal which is found in its native state 96. I8 HTg =1 3199 E &9 Hqmrsmai g |
A) Pt A) Pt

B) Cu B) Cu

C) Fe C) Fe

D) Ag D) Ag

When hrass: is exposed to air for a g97. aatﬁaaﬁﬁawaqmm—ga;ﬁq*
long period of time it tuns to green 3 e < 8, @ 3E &

due to the SO ET R TR |

A) Formation of Cu(OH), A) Cu (OH)EEFT}I

B) Formation of CuSO, B) CuSO,&H

C) Formation of CuCO, C) CuCOa‘élﬁ

D) Fq:nnatinn of Cu,O D) Cu,0 & '

Alloy used for welding purpose 08. T 3 fore y=m A SR figag §
consists of ‘ A) .

A) Lead and Tin

B) Lead and Bismuth B) T 3 R

C) Lead and Antimony C) dran 3t et

D) Lead and Copper D) e it e

Liquid non-metal among the following 909, fy=fuflaa & & W@ Uy 2

A) Br A) Br

B) Te B) Te

C) Hg C) Hg

D) I D) |

Brass is the alloy of 100, fast i fumgR |

A) Cuand Sn A) Cu 3 Sn

B) Niand Cr B) Ni 3 Cr

C) CuandZn C) Cu 3R Zn

D) Pband Sn D) Pb 3t Sn
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101.

102.

103.

104.

PHYSICS

What is the colour of sky viewed from
surface of the moon ?

A) Red
B) Blue
C) White
D) Black

An object of 5 cm in size is placed
at a distance of 20 cm from concave
mirror of focal length 15 cm, what is
the nature of the image ?

A) Real, inverted, enlarged

B) Real, erect, diminished

C) Virtual, inverted, diminished
D) Virtual, erect, diminished

A light of wavelength 750 nm in air
enters glass slab of refractive index
1.5. The change in wavelength of light
is approximately

A} 500 nm
B) 250 nm
C) 750 nm
D) 1250 nm

There are two lenses. One is convex
of focal length 20 cm and another is
concave of focal length 25 cm. What
is focal length of the combination ?

A) 0.01 cm
B) 100 cm
C) 10cm
D} 1em

i Pﬁge No. 25

101.

102.

103.

104.

wifve o=

HEHT & HUaE A @A T SATHIE & 1
Y7

A) &

B) fien

C) ¥

D) wfen

15 9.4 B T 9 srEa 9 @
20§74, it 3t W 5 A7, Fi Fag Ted
T a5 R, R fivmfawnd ?
A) arEafdss, I, |8l

B) arfass, diwn, S

C) s, Ieet, Bl

D) amurdt, diem, Sk

g # 750 Fndfiex wodedan o U
YT 1.5 A9 a1 i Sl T A
AT T & | TR o aneedar # e
i &

A) 500 Fdfiex

B) 250 et

C) 750 ¥t

D) 1250 Wt

ATEE I TF 20 8. i wEE gl W
Ie & 3R e 25 .. i wiEa gl
e ¥ | 36 A R g e
arit 7

A) 0.01 3.1,

B) 100 &7,

C) 10a1h.

D) 1@.4.
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105. According to Ohm's law, V = IR

A) VaR
B) laR

1
C) Va—
) ag

D) Val

106. On which of the following factors
_resistance of the wire depends ?

- A) Area of the cross section
B) Length
C) Temperature
D) All of the above

107. Device used to regulate the current in
a electric circuit is

A) Transformer
B) Voltmeter
C) Rheostat

D) Galvanometer

108. Across a metallic conductor of non-
uniform cross-section, a constant
potential difference is applied. The
quantity which remains constant along
the conductor is

A) Current

B) Resistance

C) Electric field
D) Current density

, D) fergauma w7
, )

105. ¥irgn ¥ Fram & @R, V=IR
A) VaR
B) laR

1
C) Vﬂ-ﬁ

D) Val

106. TR ity Fr=fafea # @ fra FRe
fekksmme ?

A) IR FIE N HAEA
B) W
C) auH

D) 3w wft

107. ue firgga wfie % Rrgaurn = Rafia w0
¥ fore v ot 9 e 9 @

A) e

B) dieediet
C) ur
D) e

108. wmw%@qﬁﬁmﬁ
e TR RivaTaR e T R | H e
# st e R wa ®

A) frgaum
B) wiy

C) faga &
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109. How many 400 Q resistors are required

110.

to carry S ampere of current connected
to 200 V line ?

A) 20
B) 5
C) 1
D) 10

Express which of the following setups
can be used to verify Ohm’s law.

EREN

B) ® 3 (%)
| N
W S—
c) 2
o—
G
D) 2

109. 200 V Fr amg A I3 5 Udrr Rigaema =t

110.

& T & T 400 Q * frad wikus
# aTrEvaE B 7

A) 20
B) 5
C) 1
D) 10

TuIige 3, 2itgn & Pram & v & R
Fr=ferfaa o @ - e v e
T ?

{1

SR
|-
Y —
) 3
——
U
D) § :
_'@ 1
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111,

112.

113.

114,

A wire of resistance 8 ohm is bentin
the form of a closed circle. What is the
effective resistance between point A
andB ?
B
90° A

A) £.0

3

3
B) P Q
c)da

3
D 3a

4
An electric heater is rated at 1 kW.

Calculate the heat produced per hour.
A) 1000 J

B) 3600 J

C) 3600 x 10°J

D) 60J

S. |. unit of resistivity
A) ampere

B) coulomb

C) ohm

D) ohm meter

Two heaters A and B, rated 200W at
220V and 40W at 220V respectively, are
connected in parallel to 220V supply.
Calculate current drawn by heater B.

A) 0.64 A
B) 0.91 A
C) 0.182A
D) 1A

Page No. 28

i

2.

113.

114.

8 3fren Wiy 9 U aR i Hig T
wEga I T € | fg A W B & =

e g = E 7
B

a0°

A)

o)

B)

2

&)

C)

D)

SlLW|d PIW WM
)

s R et 1 kW sain T g | s

Tl JeTfed ST hY O |
A) 1000 J

B) 3600 J

C) 3600 x 10°J

D) 60 J

wieigesd i S. |. T ©
A) T

B) g

C) e

D) Aew e

A 37 B 2 Eret ssT: 220V T200W 3R
220V W 40W 91T 7T § 3K 58 220V
g @ AR # S T E | S B EN
fremreht o Tl Rregaremr i o |
A) 0.64 A

B) 0.91 A

C) 0.182 A

D) 1A
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115. Y= frdog g0 o & wfRy +2.50 7@

115. Power of the lens suggested by
ophthalmologist is +2.5D, then T E,
A) f=2.5 cm, convex lens A) f=2.58.H., Iua g
B) =40 cm, concave lens B) f=40@.f., 5=ae o
C) f=40 cm, convex lens C) f=408.4., 3va A
D) f=2.5cm, concave lens D) f=25@.4., s/Eaa &4
116. The amount of light entering the 116. WHE A3 | Y391 F areft yeen i urn
human eye is controlled by I Fafa et g |
A) Iris A) uftarfisr
B) Cornea B) Waded
C) Retina C) F=hve
D) Pupil D) sit@ it gereft
117. The eye defect in which far point shift | 117. 38 3fee v e g g oFa @ Fee
nearer than infinity is T AT
A) Far sightedness A) g gfRd
B) Cataract B) M
C) Short sightedness C) free RN
D) Presbyopia D) a-{-@gﬁ
118. A person holds newspaper far from 118, T SfR FHT=IRIA ol Hewial & TG & fo1g
th'lg". ﬁ:ses to read it comfortably, then aifEl & e e &, @ 3 2
A) Cataract A) {
B) Presbyopia B) S g
C) Hypermetropia C) q e
D) Myopia D) fiere gieeay
119. In dispersion of white light through 119, e 3 frew & wieam & v wehrer 3 fRsur
.glass prism, it is observed that violet a1 SR
colour bends more and red colour badiii m Y R Sl ge
bends less, then RARAE TTE TR, @
A) Wavelength of all colours same A) aft Tt it qoreeiar wwE &
B) Mg > A B) > A
C) A > Mgt C) A__>hy,
D) Bending does not depend on .
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121,

122.

120. In the circuit below, the ammeter and
the voltmeter reading are 6A and
12V respectively, then the value of
resistance R is

o———@ N\ &

©

A) >2Q
B) =2Q
C) 2Q

D) <2Q

In a conductor, 1500 coulombs of
charges enter and 1500 coulombs of
charges exit in 5 min, then current is

A) 300 ampere
B) 5 ampere
C) zero

D) 1 ampere

Two wires of same material having
length and radii in the ratio 3 : 4 and
3 ::2 respectively, are connected in
parallel-with a battery of 6V, the ratio
of currents is
A) 1:3

B) 3:1
C)1:2
D)2:1

120. = e 7 gfke §, snfiet i Svedizt

121.

122.

Page No. 30

g T9ITe ¢ ST hE: 6A ST 12V R,
dAaRAT R A 8

-—_®—-/\N\—.—o

O,

A) >2Q
B) =2Q
C) 2Q

D) <2Q

o = °, 5 fime § 1500 9 &
AT VAN R & 31 1500 Feiw & AW
e €, @ frgaumo @

A) 300 TR
B) 5 UK

C) =
D) 1 @R

Tum gard ¥ &) ar Rt wa i B
%1 T ae: 30 4 3fR.3:2 3 ol
7€ 6V I Felt A TR § 9 ¥,
Faegeerra o A R J

A) 1:3

B) 3:1

C) 1:2

D) 2:1
1 PECE
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123.

124.

125.

126.

If refractive index of water with respect
to air is -g then refractive index of air
with respect to water is
A) 4x3
B) 3

4

o
D}E

A person requires a lens of power
~0.50D so where is his far point ?

A) 0.5m
B) 4m
C)2m

D) 1lm
4

Near point of an eye suffering from
long sightedness is

A) 25¢cm

B) <25¢cm

C) >25cm

D) at infinity

When 1J of work is done in moving a

charge of 1 coulomb from one point A

to another point B in a electric circuit,

then it refers to the following

A) 1 ampere current between point A
and B

B) 1V of potential difference between
point A and B

C) 1.6 x 10~ coloumb of charge
between point A and B

D) None of the above

123.

124.

125.

126.

D) 3vdw # § #1d 7
Cpageno 0

wﬁmgﬁaamramﬁqm 2, @ et
Y 91y 1 T ¢

A) 4x3

3
B) X
)4

C}Jg_-
0

T iR H —0.50D WiF % dw
TSI ©, oY I gy foig i & ?
A) 0.5,

B) 47,

C) 21,

D) %:ﬁ

iR ufta uE = 1 e g @
A) 25 3.1,

B) <25@.7.

C) >259.1.
D) 3Ha W

T forga wfhe § 1 Feiw smdm =i fig A
dfgBmwATAd s e, fae
frferiaa & deffa 2 )

A) 553 A 391 B & i 1 Wit forea v
B) fg A 3ft B % sftw 1V =1 fvaiet

C) fig A 3tk B % e 1.6 x 10~ 3w
Lok icil

1 PECE
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'127. V-| graph of experiments on series
and parallel combinations of two given
resistors R, and R, shown below.

T

v ' parallel

A serles

-—

v

V—ou

Fig. (ii)
Which graph is/are correctly labeled ?
A) Only Fig. (i)
B) Only Fig. (ii)
C) Both Fig. (i) and Fig. (ii)
D) None of the above

128. In the given circuit diagram, reading in
the voitmeter is

127. f ¢ wfkie= R, 3l R, ¥ gaen sik
AT GEeFT W SEm &5 V-l T S
Rem g |

T‘“‘ e

v T

ST ()

e

=

.
-

Ve
STTHH (i)
-7 0 T RafRa & 7
A) et TR (i)
B) e & (ji)
C) 2t i (i) iR e (i)
D) 397 & & g et

128. Rumuafie sma #, Fieedier gy et
T HE ?

10V 10V
n |\
I e { 0&
2Q 40 652 T 20 40 6Q i
L MA MA_ MA___ N\ MA MA
A) 12V A) 12V
B) 10V B) 10V
C) 5V C)5V
D) 0.833V D) 0.833V
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129.

130.

131,

In a small electric plant at your home,
45 kJ energy is generated. Then how
long you can power a incandescent
bulb of 45W approximately ?

A) 45 min.
B) 16.67 min.
C) 20.25 min.
D) 45 sec.

A student obtained following graph :

[

™
b
ma) 272 | R
1 | | i
1 1 1
2 4 6 8
V(Volt) ———»
so resistance of resistor is
A)2Q
B) 2kQ
C) 02Q
D) 20Q

Which one of the following is not true
about properties of magnetic field
lines ?

A) They come out from north pole and
go into south pole

B) They form closed loops

C) They intersect when two magnets
are kept

D) They are closely spaced in the

129.

130.

131.

region of strong magnetic field wWa g
0

9% R H T B forga waw i 45 kJ
Tt Iere et & | Y o979 OF 45W T
TGS Fowr Tt et X Sen Hea | 7
A) 45 fufae
B) 16.67 faffe
C) 20.25 fafe
D) 45 9%z
uw Fremefi & Freffas o e 2
[ e |
= T
ma) 2T "5 s
1 I I I
! | 1
2 4 6 8
V (Fie) ——>
A g % widy 8
A) 2Q
B) 2 kQ
C) 020
D) 20Q
Yo &7 Tl % uml F dey i

Frefafan 3§ @ S-w o i ?

A) 9 37 ga @ Frepera & iR it g
EIGk

B) 3 & yfqy = §

C) v 3 S T o § At & whvede
T &

D) 3 nifwrmelt gacha & % aga T-gr
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132.

133.

134.

135.

An electric fuse is based on

A) The chemical effect of the current
B) The magnetic effect of the current
C) The heating effect of the current
D) None of the above

The purpose of glass cover on top of
a box type solar cooker is to

A) Allow one to see the food being
cooked

B) Allow more sunlight into box
C) Prevent dust from entering box
D) Reduce heat loss by radiation

To work properly, wind-electric
generators used wind speeds of
atleast about

A) 1.5 km/h
B) 15 km/h
C) 150 km/h
D) 1500 kmv/h

Which energy from the following are
derived from the sun ?

i. Nuclear energy

ii. Wind energy

iii. Biomass energy

iv. Ocean thermal energy
A) i and iii

B) i, iii and iv

C) iv, ii, iii

D} iand iii
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132.

133.

134.

135.

G forega v amrenfia &

A) Frmem % verfis e w
B) frgauma & S5 wm w
C) forgaemur & =fls A w
D) 3w # @ =id 7t

U F YR & WR o F e W wie

& ST T IYT B

A) @M %! vd g 3@ ¥ fvg

B) sfaw & a1fr ¥t yebrer 91 & R

C) s & gw 1 & A% & fovw

D) s RIS W T FA F
fer

Wit wiifel hrd & 3 fore, vam- R o
AR T I ga= R
T e € |

A) 1.5 fr.af, faer

B) 15 fas. . /eizr

C) 150 .o, /ey

D) 1500 f.4ft. /ez

Frfoiaa 3§ & - st gf &
ST ?

i. T et

i, 9 St

i, SR S

iv. PR S Ferf

A) i 3R ii

B) i, iii 3 iv

C) iv, i, ili

D) i 3 ii
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136.

137.

138.

139.

Select correct option from the following
about, nature and distance of the image
formed by plane mirror,

A} Real, inverted and at the same
distance as object in front of the
mirror

B) Virtual, erect and at the same distance
as object behind the plane mirror

C) Virtual, erect and at a distance
smaller than the object distance
behind the plane mirror

D) Virtual, erect and at a distance larger
than the object distance behind the
plane mirror

To get virtual image of an object by a
concave, the object should be placed at

A) Centre of the curvature

B) Between centre of curvature and
principle focus

C) Principle focus
D) Between principle focus and pole

To get powerful parallel beam of light,
head light of vehicles have

A) Concave lens
B) ' Concave mirror
C) Convex lens
D) Plane mirror

What type of mirror is used to get
virtual.and erect image always ?

A) Plane mirror
B) Convex mirror
C) Concave mirror
D) Both A) and B)
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136.

137.

138.

139.

T guu gra i wfafim i wefa i

0 F way ¥ ffafga § @ v Ry

g

A) ardfash, Iel 3R gV & Tme Svg il
FF TR

B) e, Fem o wuae qdu & s avg
figFaE

C) Imwht, e i Fwae vl % 112 T
FghH A FH P =R

D) 3w, T 3R wwaet odu & S ag
figfdam =

T Srede g1 O ag i e wfeifd
e & e et gt
=T |

A) 51 g W

B) ashal ohg 3N T& HiFd & o

C) T& ®iFd T

D) W&t By 3R ga % e

TIRINT Sl SITeRTRITEH @R feATgs W i
% foT ameAt i Teemge |
A) TEaa dd

B) 37Eae guv

C) 3ua gum

D) HHa 49

gea vt ot den wfafie g w0 %
fore fop wabr o edor i o SR ST R 7
A) GHad gdur
B) 3t €4l
C) 3raqe v
D) A) 3R B) S
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140.

141,

142,

In an experiment, a current carrying
conductor is kept parallel to the
magnetic needle on a compass. If the
direction of the current is from south
to north then,

A) North pole of the needle turns
towards west

B) South pole turns toward west
C) Needle does not move
D) North pole turns towards east

For a long, straight current carrying
wire, the strength of the magnetic field

l. is depend on nature of material of
wire
Il. is directly proportional to current

lll. is inversely proportional to
distance

A) | and lll are correct
B) I and Il are correct

C) Il and Il are correct
D) All are correct

The direction of the force on a current
carrying wire placed in a magnetic
field depends on

A) The direction of the current but not
on the direction of the field

B) The direction of the field but not on
the direction of current

C) The direction of the current as well
as the direction of the field

D) Neither the direction of the current
nor the direction of the field

140.

141.

142.

TS AN 8, U R 9 ues $ &

HITH T Yo G§ o THHIGK T&T ST § |

If frggaem i e <l & swR, @

A) 3 =1 Il g vivem it AR g
ST S |

B) &féfor ga ufeem it g wmar ® |

C) g e et |

D) 3uit ya gd i IR g e |

w wa, | fgaanes an § e 8
i wifR

I. R 3 el it vt v Pl |
II. Tergauma & weusr wETgaTdt @ |

1. g & st e @ |

A) 13RI Tt €
B) | 3 Il =t &
C) naRmad €
D) =oft et &

T Yoo &7 § W@ T, fgaanes aRw

a1 &t R et Fft @

A) fergaara &t femm w AfFa &= i Ran
W T

B) & & fawn w Sk Rrggaora i fem
RIE

C) Tergaumu i a3 sy -—wm g it R
W

D) = fergaum i R w st € dw

R w
1 PECE



-

143.

144,

145.

146.

From the following phenomenon, which
one cannot be explained by assuming
light always travels in straight line ?

A) Refraction
B) Reflection
C) Diffraction
D) Transmission

Image formed by plane mirror,

|. Double the size of the object
li. Half the size of the object
Ill. Same as the size of the object

IV. Laterally inverted
A) lis true

B) Il and IV are true
C) litand IV are true
D) All are wrong

What is the nature of the image
obtained from surface of the spoon
bulged outward and to what type
mirror we can approximate it to ?

A) Inverted and concave mirror
B) Inverted and convex mirror
C) Erect and convex mirror

D) Erect and concave mirror

Anlobject is kept at infinite distance,
produces a bright and sharp image

on the screen kept at a distance ‘x’

in front of concave mirror, then ‘X’ is
equal to

A) Radius of curvature

B) Twice of the focal length

C) Focal length of the mirror

D) Object distance
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143.
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145.

146.

Fr=foRaa afteeett # & 9 -dt =men
B9 AYURU & QY & it 51 gt 6
YW e At @ A =Sear @ ?

A) aqad

B) wredA

C) faeda

D) TR

FHAE YT FRT ST T Sierfera

1. =% % HFHR A QAT BRI

Il ST ¥ R I 3781 B

1], S % TR o S STFHR BT
IV. g 3eer

A) lga®

B) N3RiIvVeaaE

C) 3R iIvea

D) a+ft arged &

T & AT I AR I g TS A W
wfafeer it v =0 Bl ok @ BA-8
YR & UV & e AT s asar g 7
A) 3Iee AR AT g4

B) e o Iuer gdur

C) diar 3R 3w gdor

D) iy X araaer gdor

¥ gl R Tl g8 O 95 aad 349 &
e ‘X gl T T e WO e 3R
wferfere el B, & %' SR

A) asal it Pisa

B) wred gft %

C) wdur it i gt

D) =g Al
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147.

148,

149.

150.

If magnification m = +1.5, then

A) Size of the image = size of the object,
real image

B) Size ofthe image > size of the object,
real image

C) Size of the object > size of the
image, virtual image

D) Size of the object is twice the size
of the image, virtual image

A pencil partially immersed in water
appears to be displaced at the interface
of air and water, this is due to

A) Tyndall effect
B) Scattering
C) Dispersion
D) Refraction

Arrange following in increasing order
of their absolute refractive index.

A) Water, kerosene, glass, diamond
B) Kerosene, water, glass, diamond
C) Glass, kerosene, water, diamond
D) Water, glass, kerosene, diamond

How power of the lens is related to
focal length of the lens ?

A) Directly proportional to f

B) Directly proportional to %

C) Directly proportional to /f

D) Directly proportional to ?12-

147.

148.

149,

150.

afe ameada m =+1.5%,

A) wftfem 1 STHR = g H TR,
areifes wfdfea

B) wiafe@ =1 1mehm > g 7 a1,
et wfafem

C) g 1 3R > Hfcferar =1 S11ep, et
BIGIECE

D) S%g 1 TR fdfea % i % <,
amTelt wfafia

T | i w9 & goft o Tyer Ay afk
e F HYS W yfereartia wfva @ 2,
7% e wROT 2 ?

A) fésa avm

B) wehivlq

C) o

D) a79ae=

Fafafea # 37 qof sadis & wga
wH ¥ Safem Hifdm |

A) s/, F0HH, i, @

B) HUHH, wie, g, oR

C) =i, H0dH, v, g

D) Siet, %4, 0, d

w At wifF fa A B gt @ s wow
Tt g ?

A) {8 Y& FHRYT

B) %ﬂm&imﬁwﬁ

C) Vf & e gt

D) flaﬂmmwsmﬁ
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